CHEMTECH

OVENTEMP IN Celsius(°C): 109

Time IN: 15:30
In Date: 08/15/201

Weight Check 1.0g: 1.00 g
Weight Check 10g: 1.00 g

OvenID: M Oven-1

PERCENT SOLID

Analyst Name: JIGNESH

Date: 8/16/2017

OVENTEMP OUT Celsius(°C): 104
Time OUT: 07:41
Out Date: 08/16/201
Weight Check 1.0g: 1.00 g
Weight Check 10g: 10.00 g
BalanceID: M SC-1

Qc: LB89472
Lab ID Client Sample ID Dish# | Dish Wt (g) Dish + Dish + Dry % Solid
e 2) Sample Wt(g) Sample Wt(g) —
- (B) (C)
14775-01 METGKS 1 1.12 9.71 8.77 89.1
14775-02 METGKO 2 1.15 9.48 8.61 89.6
14775-03 METGLO 3 1.14 9.97 8.81 86.9
14775-04 METGL1 4 1.14 9.19 7.9 84
14775-05 METGL? 5 1.14 9.12 8.06 86.7
14775-06 METGL3 6 1.14 9.33 8.26 86.9
14775-07 METGL4 7 1.14 9.22 8.04 85.4
14775-08 METGL5 8 1.14 9.23 8.25 87.9
14775-09 METGL6 9 1.13 9.42 8.38 87.5
14775-10 METGL7 10 | 1.15 9.46 8.48 88.2
14775-11 METGLS 11 | 1.14 9.43 8.35 87
14775-12 METGLO 12 | 1.15 9.16 8.28 89
14775-13 METGMO 13 | 1.14 9.99 9.17 90.7
14775-14 METGMOD 14 | 1.14 9.99 9.17 90.7
14775-15 METGMOS 15 | 1.14 9.99 9.17 90.7
14775-16 METGML 16 | 1.14 9.16 8.37 90.1
T4775-17 METGM2 17 | 1.14 9.47 8.65 90.2
14775-18 METGM3 18 | 1.14 9.69 8.62 87.5
T4775-19 METGM4 19 | 1.15 9.18 8.04 85.8
14775-20 METGM5 20 | 1.14 9.65 8.78 89.8
14775-21 METGM6 21 | 1.15 9.8 8.77 88.1
14775-22 METGM7 22 | 1.15 9.68 8.43 85.3
(C-A) * 100

% Solid =
(B-A)
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